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Part I. CHILD DEVELOPMENT AND PEDAGOGY (Marks: 30)
‘Lwdﬂlguﬁﬁugcu:d}g’ 1
S RSBE @ et S BE

‘Ll:'ng}'gcaﬁ'@luﬁﬁ (4) Gl 5P (3)
AL D F R EENL o die SSHE 2

Collaborative play J‘..jf )’-"/ 2 (Co-operative play) Jd’@;lr (1

(Parallel play) g}f{jﬂ? 4 (Solitary play)dr.”{ V@3
Vs 'Jw § "Object permamance” 3

(Pre-operational stage) ,,w(}‘ QJ}‘ L (2  (Sensory operational stage) ,?/)J/JU) ¢!
(Formal operational stage)< “Wu'; (4 (Concrete operational stage) :«“U'iw/.i” 3
‘Lt'llz‘((jg >S5 te Al u)/l/uf!}& L"..«@u sl J?,ly/,,, Kuﬁﬁj@&i&f bl .f/z/ 4
(Conventional level) 507 s (2 (Pre-conventional Level) 5@ lmf; !
(Formal operation level) c«nujdj 4 (Post conventional level) 5/6 ool (3
YR }JJILUQ bed 5
(Mental & social development) s G35 (1
(Moral development) Y= (}"Uﬁl 2
(Language development) Vs (}U (3
(Pre-moral development) (o (5 lﬁ'&l}.l 4
‘LL}C‘}J{;(OraI Sensores Stage) éi/(fzdb (Conflict or Crisis) lef«'.l,u%wg&j’"} .6
(Autonymy vs shame) (/"Jd Bel (02 (2 (Trust vs mistrust) )l}'flr,sz Gl (1
(Integrity vs Dispair)(§y b4/l Ly (4 (Initiative vs Guilt) 2% Lok llz'/Jf{' (3
_‘L/»K‘U%/ﬂfl’?},ﬁ’&.})ﬁflfd‘.:«w’/ﬂgﬂ 7
VIR WAl A e 2L [
-‘aalkfa}d/'g/ug(%ﬁﬁul&néﬂrlﬁylﬁ:aLllml,whf.ﬁ;/&Qv‘ﬁvfl:"u/u? .8
(Mechanical Intelligence) «* l‘,;d/ L}Q (2 (Abstract Intelligence) =~| 3 ) 4 /:f (1
(Moral Intelligence) «* l‘,)(j w4 (Soual Intelligence) =* l‘JJ.P‘ (3

_ngw“z"iuc(d { "Hereditary genious" 9
i (4 £ (3 J”Ku-ﬁ/' Q2 L (1



e IR e oy e $h L LSS NI

SFdse ¢ JASUE B SFu JASH (1

< Dysgraphia

$nfbeget@d $HEG Unflzy e DA
e AU Sl g

(Inquiry based learning) .,Cﬁugz,ﬁ/ (1

(Survey based learning) VQ/'UQ;;/ 2

(Observational learning) *J@u‘w 3

(Interview) £~ (4

e EIHESEANL ISk L S e b A
By @ AR 6 idue e wAeby
L b LA I bl e e U e i PG

En (@ STTANE T St

PSSl ARSIy,

sales (4 SN G vux

se PWD - Act - 1995

Population with disability (2 People with difficulties (1

Population with defferences (4 Persons with disability (3
_‘Luﬁ}dt‘/dlvd/iﬁ/cdwwgc;ﬁ‘jj

Primary school (4 Adult Education (3 TET (2 TOSS (1

- y/gff/ & /’d JU I&_Bruner /1.

(Problem Solving learning) t..al:"(’f KL (2 (Motor learning) ./l:fld// (1

(Discovery learning) ./l;(lu'% =5l (4 (Perceptual learning) s.al:"(’d/ s (3
Ve o H (Unit plan) 62y

Gestalt (4 Bruner (3 Constructivism (2  Behaviorism (1

‘L(E ‘ca;g,-‘atz;:a{gf(l/@/Lé_bﬁfﬁ}"u‘Ugl%fvlﬁj"?ﬁri/j/?d;lﬂ(g(l"?ﬂvg
woPebilice 4 =t 3 =sBUrE (2 =slol,T (1

e U2 LS NCF 2005 LIt e Bl b6

Bl =1L 2 LAl =t (1
ajﬁﬁd/at‘l?lcﬁﬁ,:f’ 4 J’u&;tl?'&o/:? @3

10

A1

A2

13

14

15

.16

17

18

19

20

21



(Defence mechanism)w* 6§ 6 =Y C/d/u:f d)‘!’dtvgiiécd@/d/diﬁf
_‘Ltm@./’gg

(Repression) Jf KL%L.}ZG' 2 (Projection) L‘/;ar‘:' (1
(Compensation) &Ur" 4 (Regression) M//(j{l; (3

‘adlf"d/u":, _‘atnu;b»uﬁ';/d’/amrdwiay:**’ta?t{u"’p

(Zero transfer) _«l:{'/’ (2 (Bilateral transfer) f:" d/t.:a l:f'u' s (1
(Positive transfer) (}& J — L;flc:ﬁ 4 (Negetive transfer) (}& d:.a Cfldj 3
L e, b o6 J et 2 o (U

Mnemonic (4  Forgetting (3 Zeigarnik effect (2 Dejavu (1
‘Lmu.,sKéw@gdﬁ,w/?fd@uu,&WLRTE—2009

SCERT (4 NCTE (3 NCERT (2 SIET (1

Z Ui e G L RTE 2009 < 155 sL bz LAt 15, 4, L
Jshsie Lk 4 (2 il 52 (1
Jshsht Lo X\ 352 (4 Jssit L+ X A5 (3
‘LUJKMLJ}?LU}.?

2920 (4 2914 (3 218 2 27120 (1

‘L/b.u'iéValue Education (f-u &'ﬁluﬁ&wi//
FLAUe 4 Floue FLSL @ A0 a
‘Lt'}’c'é)/' K( di-:JL)(u’ L}};);J/‘L @&Q(Jyk)uﬁCephalo caudal

St 2 AL 2 Lt (1
LU /»c;&(}gw 4 Jéﬁﬁ/jc_/ €
6 1Q * MA=CA /]

110 (4 100 (3 90 (2 120 (1

Part II. LANGUAGE - Urdu (Marks: 30)
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Part III. LANGUAGE - II (ENGLISH) (Marks: 30)

61.  The boy laughed at the beggar. The passive form of it is:
(1) The beggar was laughed at by the boy
(2) The beggar was laughed by the boy
(3) The beggar was being laughed at by the boy
(4) The beggar was being laughed by the boy
62.  Itinterests me. This sentence can be rewritten as:

(1) I am interested in it
(3) I will be interested in it

(2) I have been interested in it
(4) I was interested in it

63.  Isaid to him, "Why are you working so hard"?

It can be reported as

(1) I asked him way he had been working so hard
(2) I asked him why he was working so hard

(3) I asked him why was he working so hard
(4) I asked him why had he been working so hard
In his autobiography, he remembers his wife as an everyday heroine who epitomised
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selflessness and stood for the victory of mind over matter. He honoured this
character of Indian women and dedicated a book, titled "Religion and Society" to

them.
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A dutiful teacher, a deeply spiritual thinker, an able policymaker, Radhakrishnan
was every bit the visionary India needed. Nobel laureate C.V. Raman beautifully
summed up his glorious life, "The frail body of Radhakrishnan enshrined a great
spirit-a great spirit which we have learnt to revere and admire, even to worship"
How do great men affect the integration of mind, body and soul?

(1) Through freedom

(2) Through their wise words

(3) Through their message of peace and love

(4) Through their integration of body and mind

Mahatma Gandhi called himself the of Radhakrishnan.

(1) Teacher (2) Lord Krishna (3) Arjun (4) Friend
Radhakrishnan remembers his wife as in his autobiography.

(1) a mother (2) his inspiration (3) an everyday heroine (4) Indian woman

Name of the book written by Radhakrishnan that was dedicated to the selflessness of
Indian women:

(1) Indian Women (2) An Everyday Heroine

(3) Autobiography (4) Religion and Society

According to Gandhiji, what made his and the people admire Radhakrishnan ?
(1) his policies (2) frail body (3) a great spirit (4) his vision
Identify the complex sentence from the following

(1) We read books but they watch T.V.

(2) If you search for it in the school, you will get it.

(3) You go there or they will not give you.

(4) She is not only good in English but also good at Maths

He woke up to hear the sound of bells....... in the distance.

Choose the right option to fil in the blank.

(1) clanging (2) banging  (3) buzzing (4) whistling
Identify the phrase containing Noun + Noun.

(1) strong light (2) shed light (3) a light source (4) aray of light
John hates women. He is a

(1) Misogynist (2) Polyglot  (3) Prodigy (4) mercenary
There's Use in complaining. They won't do anything about it.

Choose the correct answer:

(1) alittle (2) little (3) afew (4) few

Ramesh has two brothers, but he doesn't speak to of them.

Choose the correct answer:

(1) either (2) neither  (3) both (4) any

What was in the box?

Choose the correct answer to complete the sentence:

(1) you did think (2) you had thought (3) did you think that (4) did you think

I am annoyed him what he has done to us.
Choose the correct answer to complete the sentence:
(1) with, for (2) for, with (3) with, from (4) for, from
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The expression 'to turn over a new leaf means:
(1) To change one's behaviour for the better (2) To take a decision

(3) To read something carefully (4) To be cautious

He eats banana every morning.

(1) a (2) the (3) any (4) an
Tomorrow, there is a meeting in our school. Come early, ?
(1) do you (2) don't you (3) will you (4) won't you

Identify the correct question. grammatically

(1) What height is Mount Everest?

(2) How tail is Mount Everest?

(3) How much height is Mount Everest"

(4) How high is Mount Everest?

Choose the correct word to fill in the blank in the sentence.

Copper is useful metal.

(1)a (2) an (3) the (4) any
I like singing. In the above sentence,

'singing' is:

(1) a present participle (2) a gerund

(3) a past participle (4) a model verb

Sindhu said to Ganesh, "Are you fine?"
The conjunction that can be used to change this sentence into indirect speech is:

(1) whether (2) that (3) who (4) when

Choose the correct 'Yes / No' question.

(1) Does he reads novels? (2) Are you read novels?

(3) Won't you come here? (4) Do you are a student?

It's time you ............... to bed. go Choose the correct verb that fits the context.
(1) went 2)will 3)go (4) had gone

The General Service List of English words (GSL) is associated with:

(1) Bilingual method (2) Grammar translation method

(3) Dr. West's new method (4) Direct method

The process of determining the changes in behaviour through instruction is :
(1) Test (2) Evaluation (3) Measurement (4) Assessment

Remedial teaching is

(1) nothing but re-teaching.

(2) something where achievement is expected to be very low.
(3) need not be highly specific and need based.

(4) more like a crash course.

Listening to public speeches belongs to

(1) Focussed listening (2) Gist listening

(3) Appreciative listening (4) Casual listening

One of the following helps us to get a bird's eye view of the book. Identity it.
(1) Jacket (2) Front page (3) Blurb (4) The preface
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